LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)
WORKSHEET - 2

996 940 516 282

x7 x 8 x4 x 6

42 0 24 12

+ 630 + 320 + 40 + 480
+ 6300 + 7200 + 2000 + 1200
= 6972 = 7520 = 2064 = 1692
104 862 711 280

x5 x 3 x 9 x 4

20 6 9 0

+ 0 + 180 + 90 + 320
+ 500 + 2400 + 6300 + 800
= 520 = 2586 = 6399 = 1120
836 185 412 370

x5 x 3 x 9 x 2

30 15 18 0

+ 150 + 240 + 90 + 140
+ 4000 + 300 + 3600 + 600
= 4180 = 555 = 3708 = 740
735 585 970 310

X 6 x 4 x 8 x 8

30 20 0 0

+ 180 + 320 + 560 + 80
+ 4200 + 2000 + 7200 + 2400
= 4410 = 2340 = 7760 = 2480
608 298 375 264

x 4 x 2 x 6 x 8

32 16 30 32

+ 0 + 180 + 420 + 480
+ 2400 + 400 + 1800 + 1600
= 2432 = 596 = 2250 = 2112
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